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900 950 1,000 1,100

Round 932 to the nearest hundred.1)

60,500 60,000 60,400 60,300

Round 60,437 to the nearest hundred.3)

What is 84,657 rounded to the nearest hundred?

84,000 85,000 84,600 84,700

Which of the following when rounded to the nearest hundred is 3,200? 

3,000 3,214 3,253 3,310

B)

55,364

613

4,588

15,546

1)

865

3,791

23,555

6,210

2)

Complete the in-and-out boxes using the given rules.A)

Rounding to the Nearest Hundred
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Rule: Round to the nearest 

hundred.

Rule: Round to the nearest 

hundred.

2)

4)
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